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Edexcel GCSE Mathematics
EXCHANGE RATES

Materials Required:
- Pen
- HB Pencil
- Ruler (in centimetres and millimetres)
- Protractor
- Compass

Information:

- The marks allocated for each question are
displayed within brackets — utilise this information
to gauge the appropriate amount of time to
dedicate to each question
- Questions marked with an asterisk (*) will assess
your written communication; be careful of spelling,
punctuation and grammar with these questions

Instructions:

- Use a black ink pen to answer all questions
- Fill your name in the section below
- Answer the questions in the spaces provided
- Show your working out for all answers

Advice:

- Carefully read the question before attempting to
answer it
- Be vary of time and try to answer every question
- If you have enough time in the end, go back and
check your answers. A good way to check your

answers is to retry the question with the hope of

getting the same answer as before without looking

at your working out from before

NO CALCULATOR ALLOWED

NAME:

More information and resources available at www.BishopsOnlineTutoring.com
For video tutorials check us out on YouTube, Instagram and TikTok @Bishops_Online_Tutoring




1.

Jamie goes on holiday to New York.
The exchange rate is £1 = 1.70 dollars.
He changes £900 into dollars.

(a@) How many dollars should he get?

After his holiday Jamie changes 160 dollars back into pounds.

The exchange rate is still £1 = 1.70 dollars.

(b) How much money should he get?
Give your answer to the nearest penny.

............................. dollars

2

(2)
(4 marks)

Tania went to Italy.

She changed £325 into euros (€).
The exchange rate was £1 = €1.68

(a) Change £325 into euros (€).

When she came home she changed €117 into pounds.

The new exchange rate was £1 =€1.50

(b) Change €117 into pounds.

2

(2)
(4 marks)

More information and resources available at www.BishopsOnlineTutoring.com
For video tutorials check us out on YouTube, Instagram and TikTok @Bishops_Online_Tutoring



Menu

Hot dog
Chicken salad
Hamburger
Pizza

$5.10
$4.50
$3.80
$4.00

A British family are on holiday in San Francisco.
At a café they order 3 hot dogs and 1 chicken salad.

The exchange rate is £1 = $1.44 Work

out their total bill in pounds (£).

(4 marks)

A student bought a pair of sunglasses in the USA.

He paid $35.50

In England, an identical pair of sunglasses costs £26.99

The exchange rate is £1 = $1.42

In which country were the sunglasses cheaper, and by how much?

Show all your working.

(4 marks)

More information and resources available at www.BishopsOnlineTutoring.com
For video tutorials check us out on YouTube, Instagram and TikTok @Bishops_Online_Tutoring



5.

Hugh went on holiday to Italy.

While on holiday, he went shopping.
He bought a belt and a hat.

The belt cost 25 euros.

The hat cost 14 euros.

The exchange rate was £1 = 1.56 euros.

Work out the total cost of the belt and the hat.
Give the total cost in pounds.

(4 marks)

Linda is going on holiday to the Czech Republic.
She needs to change some money into koruna.

She can only change her money into 100 koruna notes.

Linda only wants to change up to £200 into koruna.
She wants as many 100 koruna notes as possible.

The exchange rate is £1 = 25.82 koruna.

How many 100 koruna notes should she get?

(6 marks)

More information and resources available at www.BishopsOnlineTutoring.com
For video tutorials check us out on YouTube, Instagram and TikTok @Bishops_Online_Tutoring



7. Tim is travelling home from holiday by plane.
He buys some food and drink on the plane.

Price List
Cheese Roll £3.50
Crisps £1.20
Chocolate bar £1.30
Coffee £2.50
Tea £2.00
Orange Juice £220

Exchange rate £1 = 1.25 euros

Tim buys two cheese rolls, a coffee and an orange juice.

He pays part of the cost with a 10 euro note.
He pays the rest of the cost in pounds (£).

How much does Tim pay in pounds?

(4 marks)




8.

Esther went to France.

She changed £300 into Euros (€).
The exchange rate was £1 = €1.25

(a) How many Euros did she get?

Esther went shopping in France.
She bought:

2 necklaces for €2.60 each
1 hat for €6.40
1 bag for €9.80

The exchange rate was £1 = €1.25

(b) Work out her total bill in pounds (£).

2)

“4)
(6 marks)




Rosie and Jim are going on holiday to the USA.
Jim changes £350 into dollars ($).
The exchange rate is £1 = $1.34

(a) Work out how many dollars ($) Jim gets.

$ e,
2
In the USA Rosie sees some jeans costing $67 S -\-'\/1.7
$67 <
\ c\_\.\
In London the same make of jeans costs £47.50 VN .
A ‘\/\/(; -z
. £47.50 <
The exchange rate is still £1 = $1.34 7 /\P\V.
(b) Work out the difference between the cost of the jeans in the USA and in London.
Give your answer in pounds (£).
£ o,
(&)

(5 marks)




10. The exchange rate in London is £1 =€1.14
The exchange rate in Paris is €1 = £0.86

Elaine wants to change some pounds into euros.

In which of these cities would Elaine get the most euros?
You must show all of your working.

(4 marks)

11.  Stephen imports cars from the USA. He sells them in the UK.

He has just bought a car in the USA costing $24 000.
It cost him £900 to import the car to the UK.

The exchange rate is £1 = $1.45
Stephen needs to make a profit of 20% on his total costs.

Work out the least amount that Stephen must sell the car for in the UK.
Give your answer in pounds.

(4 marks)




